Year 3 Maths 10-11-20

LO: | can use my times tables knowledge

1.

Count in 2s to calculate how many eyes there are.
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There are eyes in total.
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2.

How many petals altogether?
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Write the calculation.

3.

Use <, > or = to make the statements correct.



4.

Tommy and Rosie have both drawn bar
models to show 7 x 5
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What's the same and what is different
about their bar models?

Draw your own bar model to represent
4 x5

5.

There are 35 fingers.
How many hands?

___x5=735

6.

Tubes of tennis balls come in packs of 2
and 5

Whitney has 22 tubes of balls.

How many of each pack could she
have?

How many ways can you do it?

| found 3 ways of doing this — can you find them?

Hint: It might help to draw the different pack sizes and use them to make 22



